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ADULT EDUCATION
PAPER - 1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following learners need their teacher’s attention ?
(1) Motivated (2) Slow learner
(3) Introvert (4) All of these

2. National Youth Week is celebrated from :
(1) 12 to 18 January (2) 15 to 21 January
(3) 11 to 17 July (4) 12 to 18 July

3. Which of the following is teaching method in Extension ?

(1) Individual contact method (2) Group contact method
(3) Mass contact method (4) Above all

4. ‘Tejaswani Gramin Mahila Sashaktikaran Yojana’ was started in :
(1) Rajasthan (2) Madhya Pradesh
(3) Bihar (4) Jharkhand

5.  Which of the following state of India has the highest urban population ?

(1) Bihar (2) Maharashtra
(3) Uttar Pradesh (4) Punjab
6.  Launching of in 1952 was a landmark in the history of India.
(1) Integrated Child Development Scheme
(2) Integrated Rural Development Programme
(3) Community Development Programme
(4) Jawahar Rojgar Yojana
7. Which phase is consist in Extension Education Processes ?
(1) Situation (2) Teaching (3) Evaluation (4) Above all
8.  Provision of right to equality has been incorporated in Indian Constitution under the article :
(1) 16to 20 (2) 15to 19 (3) 14to19 (4) 13to 17
poses || [[{HTINIEN 2 Fapert
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1.

8.

frafafed 5 9 = 9 faenfefai w faemes o1 em s §2?

1) =fafa (2) = foremef

(3) sTaHuEl forameft (4) SR gt
T 1 FE e H el qeh T Sl © 2

(1) 129 18 SRt (2) 159 21 Sl
(3) 11917 Jar (4) 12918 I
frefafea § @ =F 9@ yar fago fafa 22

(1) =afeama avge fafy (2) T T fafy
(3) < wHeh fafy (4) ST qf
At T Afge greRteRer A’ fEfafad 3 9 few 1o O IRy & TE o ?
(1) oM (2) WA Y

(3) fa=R (4) wRES

IRA & fefated # 9 fora Tsa o gaifyus T/ SHeet § 2
(1) fo=R (2) HEN

(3) W U™ (4) @

1952 § URY IR o S | Teh Hiel ol Jeerk o |

1) SHfHa o foerm s

SEISSUSHIESEISEI

TR e gfshan # freefafed § 9 @ @ e ?
(1) aftfeufq (2) Tereon (3) AR (4) S qft

IR Ffau™ o fhE sTIwss H Al & AfHeHR 1 FfHfad foam @ g 2
(1) 16 920 (2) 15§19 (3) 14919 (4) 13917

vosns [ HITNANEAI 3



9.  Curriculum is a need of :
(1) Training (2) Teaching (3) Research (4) All above
10. Motivation has two value aspects :
(1) High and Low (2) Primary and Secondary
(3) Intrinsic and Extrinsic (4) Humanistic and Materialistic
11. Principle of random sampling in social research was first introduced by :
(1) A.L. Bowley (2) B.S. Rowntree
(3) P.V. Young (4) John Galtung
12.  Which of the following is the field source of data ?
(1) Census of population
(2) Personal diary
(3) Historical study using actual documents
(4) Direct observation
13.  Which of the following statements is not true ?
(1) Adult learners are matured
(2) Adults are rigid to learn
(3)  Adults learn rapidly
(4)  Adults want to share their experiences in adult education center
14. Hardware that adds two numbers is :
(1) The Control Unit
(2) An internal CPU register
(38)  Arithmetic Logical Unit
(4) Browser
15. is an experimentation with responses in order to provoke positive reinforcement.
(1) Trial and error (2) Social learning
(3) Memorising (4) Insight learning
posess [ HANHLANAN ‘ Fapec
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(1) 2Fd TS T (2) HHISR SAfRH
(3) hS®Y HTAT (4) Aagfe sfamm

3)
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16. helps to improve performance of workers and to plan new strategies.
(1) Promotion (2) Competition (3) Compulsion (4) Evaluation
17.  Which of the following are the advantages of lecture method ?
(a) Itis economic in time and energy.
(b) The material may be presented in a clear, precise and orderly format.
(c) Itis useful only for participant who can use printed materials.
(d) It may be used with large group.
Code :
(1) (a), (b) and (d) are correct (2) (b) and (c) are correct
(3)  Only (c) is correct (4) (c) and (d) are correct
18.  Which of the following components is not a part of diffusion of innovation ?
(a) Change agent (b) Trial
(c) Communication (d) Evaluation
Code :
(1) (a) and (b) are correct (2) (b) and (d) are correct
(3) (b) and (c) are correct (4) (a) and (c) are correct
19. Which of the following is not a part of Post Literacy Programme (PLP) ?
(a) Remediation of basic literacy skills.
(b) Continuation and upgradation of basic literacy skills.
(c) Teaching legal literacy.
(d) Conducting vocational courses.
Code :
(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a) and (c) are correct (4) (c) and (d) are correct
20. Mohammad Yunus won Noble Prize for establishing :
(a) Grameen Bank (b) Micro - Credit
(c) Micro economics (d) Micro management
Code :
(1) (a), (b), (C) and (d) are correct (2) (a) and (b) are correct
(3) ) and (d) are correct (4) (d) and (c) are correct
posers [N : Fapec




16. FHHATRAE! o AR § IR @M IR 78 WHIaal i A1 991 § Herdl ial/
EoGIR
(1) shl?\tm (2) wfaeayt (3)  @eEdl (4) AR
17. =ned fafy @1 frafafed § & @ aw R2
(a) I% 9HI AR T i gfe | forwmrdt €1
(b) | I TR, T AR oAk UEd H qd a1 S Fehdl ¥ |
(c) 9% had 3§ favrht & fau Iw=rht B, S qfea wmfie w1 SweeT ) g €|
(d) TR SIS TR & T AN foRan ST R B
?f:(a),(b)aﬁ'{(d)ﬂ'@%\‘l 2)  (b) 3R (c) W& T
(3) e (o) W B 4) (o) 3T (d) W& T
18. fr=Afafed § § ST 92 TaER & TE0T FHT 9N T § 2
(a) TRadA sifaekar (b) TdEfO
() TR (d) TR
<<
(1) (a) 3R (b) @& T 2) (b) 3R (d) W B
(3) (b) 3R () T T 4) (a) 3R () T T
19. T W&RA wReRA (f.uadt.) o1 frefafed § 9 e am 128 82
(a) O HILRAT ST H GER A
(b) T TIERAT hIFTA hl Fad &1 3R S
(c) faftrer qraran = faemon
(d) SAEHIEE SIshH h1 HeleH
e
(1) (a) 3R (b) T ¥ | 2)  (b) 3R (c) W& T
3) (a) 3 () T Tl 4) (o) 3R () T ¥
20. HiEHS 9 A fordent Tumaen & for Treiel qUERR e foham o ?
(a) TTHIOT S (b) HEHI-shiee
(c) HIZshl SehIAIHFY (d) TSI TS
?gl—){ | (@), (b), () ¥R (d) WET €1 (2)  (a) 3T (b) WE T
3) (o) 3R (d) T T (4) (d) 3R () T ¥
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21. Extension education is :

(a) Curriculum centric (b) Problem oriented

(c) Highly formal (d) Need based

Code :

(1) (a) and (b) are correct (2) (b) and (d) are correct

(3) (b) and (c) are correct (4) (c) and (d) are correct
22.  An adult educator should ask the questions to :

(a) Gain the learner’s participation in class

(b) Lead discussions

(c) Focus attention of the learner

(d) Try to trick learners with rhetoric

Code :

(1) (a) and (d) are correct (2) (c) and (d) are correct

(3) (b), (c) and (d) are correct (4) (a), (b) and (c) are correct
23. Factors influencing innovation are :

(a) Change agent (b) Pollution

(c) Culture (d) Immigration and emigration

Code :

(1) (a) and (b) are correct (2) (a), (c) and (d) are correct

(3) (b) and (c) are correct (4) (a), (b) and (c) are correct
24. Special education covers :

(a) Physically challenged children  (b) Mentally challenged

(c) Hearing impaired (d) Dark complex children

Code :

(1) (a), (b), (d) are correct (2) (a), (b), (c) are correct

(3) (@), (b), (c) and (d) are correct (4) only (d) is correct
25. The consequences of adoption of new practices or innovation are :

(a) Social change (b) Climate change

(c) Migration (d) Development

Code :

(1) ( ) and (b) are correct (2) Only (a) is correct

(3) (b) and (c) are correct (4) (a) and (d) are correct
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(a) UISIhH-hfxd (b) EEEfEEt

(c) Fd SA=ien (d) AT ST
e :

(1) (a) 3R (b) T | 2) (b) 3R (d) w1
3) (b) 3R (c) T T 4) (o) 3R (d) =& T

Ui fere w1 ffafea ¥ 9 foTe fow oo 3o =nfew ?
(a) e H Trameft i vEfieRl A1 S o fag

(b) ==t ¥ aRturfd & fag

(c) Toremeft =1 w4 *fgd & & fog

(d) vRTEeR ¥ foenefl o w1y =rreh! S & JAE % fau

e

1) (a) 3R () =& 21 2) (o) 3R () T ¥

(3)  (b), (o) R (d) WA €1 4) (a), (b) W (o) & T
FATER hl GHIeId Hi a1l Shid R ¢ ?

(a) uREda sifaekdl (b) I

(c) E&Rid d) YA 3R IHaE
e

1) (a) 3R (b) T ¥ | 2)  (a), (c) 3 (d) T ¥
3) (b) 3R (c) T 1 4) (a), (b) 3R () T T
fafere foren o gfmfea € -

(a) YRIR® & 9 fooniv o= (b) THES &9 9 e
(c) gau-feeama (d) Hied Tk o=

<

(1) (a), (b), (d) =& €1 2) (a), (b), (c) ¥ ¥
3) (), (b), () 3R (d) =& T (4) Fad (d) & F |

T IR ek A1 TaraR 379 Skl -1 Yo 8id § ?

(a) ISR GREdA (b) e aREda

(c) Ta&d (d) foeRmm

<<

(1) (a) 31 (b) T 1 (2) A (a) T R

3) (b) 3R (c) T T (4) (a) 3R (d) T T
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26. 73'4 and 74 constitutional amendment (1993) is related to :
(a) Right to property (b) Village Panchayats
(c) Nagar Panchayats (d) Women reservation
Code :
(1) Only (a) is correct (2) (a) and (b) are correct
(3) (b) and (c) are correct (4) (c) and (d) are correct
27.  Which of the following is not a factor for effective adult learning ?
(a) Motivation and cue (b) Activity and engagement
(c) Punctuality and punishment (d) Rigidity and discipline
Code :
(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a) and (d) are correct (4) (c) and (d) are correct
28.  Which of the following are the characteristics of adult learners in general ?
(a) Adults are mature and responsible people
(b)  Adults engage in learning of their own volition
()  Adults need to be successful learners
(d) They do not use their own resources to learn
Code :
(1) (a) and (d) are correct (2) (a) and (c) are correct
(3) (c) and (d) are correct (4) (a), (b) and (c) are correct
29. Three vulnerable areas in which the problem of primary education strongly manifest are :
(a) Enrolment and access (b) Desire and motivation
(c) Retention and wastage (d) Achievement
Code :
(1) Only (a) is correct (2) (a) and (b) are correct
(3) (a), (c) and (d) are correct (4) (b) and (c) are correct
posers [N 1 Fapec




26. 739 iR 7431 Gaenfaer wened (1993) Frfafed § @ frad Heifua €2
(a) THEfd 1 SRR (b) UM GEFd
(c) TR Y=m™d (d) dHiEeT 3R&T
<< :
(1) Fad (a) T T 2) (a) 3R (b) W& T
3) (b) 3R (c) T ¥ 4) (c) 3R (d) =& T
27. et Uig s @ frefafad § 9 e SR T 2
(a) AR IR Heha (b) forameRaTa SR R
() wTHAfTd 3R que (d) HSRAT AR AT
<< :
(1) (a) 3T (b) W& 2| 2)  (b) 3R (c) W& T
3) (a) 3R (d) W ¥ 4) (o) 3R (d) =& T
28. Uig frenfofli & e dR W fr=fafed § 9 @ o €2
(a) Yig uRusa IR SR < B ¥ |
(b) Ug W IO Tou1 | HE =ed € |
() el & fore what forameff 2 stareaes T
(d) A HE & folu W ST HETeEl sl ST el i |
<<
1) (a) 3R (d) T& 1 2) (a) 3R (c) T £
3) (o) R (d) T 1 4) (a), (b) 3R () T 1
29. I 9 HUSR & HY §, T wrafen e 1 g gedr ¥ yehe gl € 2
(a) OSiTeRLUl T g (b) Z=S1 WE AU
(c) FIfa iR T2 (d) qafsy
<< :
(1) e (a) Tl T 2) (a) 3R (b) T ¥
(3) (a) (c) ¥R (d) TA &1 4)  (b) 3 () W& &1
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30. A good demonstration should be :
(a) Clearly presented
(b) Visible to adult educator only
(c) Incapable of being duplicated
(d) Relevant to the situation, topic or subject being discussed
Code :
(1) (a) and (c) are correct (2) (a) and (d) are correct
(3) (b) and (c) are correct (4) (c) and (d) are correct
31. NLM’s classification of Continuing Education Programmes for neo-literate are :
(a) Online Programme
(b) Income generation programme
() Equivalency Programme
(d) Individual Interest Promotion Programme
Code :
(1) (@), (b), (c) and (d) are correct (2) (a) and (c) are correct
(3) (a) and (d) are correct (4) (a), (b) and (c) are correct
32. Continuing Education Programmes offered by the university system comprises of :
(a) Short-term Programmes (b) Certificate Programmes
(c) Both (a) and (b) (d) Regular Degree Programmes
Code :
(1) (a) and (d) are correct (2) (c) is correct
(3) (a), (b) and (c) are correct (4) (b) and (d) are correct
33. Select the major styles of leadership :
(a) Authoritarian (b) Democratic (c) Laissez-faire (d)  Self styled
Code :
(1) (a), (b) and (c) are correct (2) (b) and (d) are correct
(3) (c) and (d) are correct (4) (d) is only correct
34. Which technique of participatory approach are correct ?
(a) Participatory Research Appraisal (b) Participatory Methods
(c) Participatory Learning Appraisal (d) Participatory Approach
Code :
(1) ( ) and (b) are correct (2) (c) and (a) are correct
(3) ) and (b) are correct (4) (d) and (a) are correct
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30. T 7B US¥H :
(a) T w9 H Y& foran S =nfEu
(b) Tad dig fremes =i gfterier 21 =nfeu |
() It AT & a1 e |
(d) o uftfeafa, getor a1 fawar o R # <= &t <1 @ E, 96 TIHe Wi 21 91fet |
?f‘.(a)ezﬁ'{(c)ﬂﬁ%xl 2) (a) 3R (d) T T
3) (b) 3R (c) =& T 4) (o) 3R () T ¥
31. Ta9-9eR % foruw Had fen wrEisy & 9 § U0, T, & e |
(a) A <A g
(b) SAF-TH HEUHRH
(c) U hHThshH
(d) =afFTa sifuefa oA wriwd
<
(1) () (), () 3R (1) T &1 (2) (a) 3R () ¥ €
3) (a) 3R (d) & 1 4) (a), (b) 3R () T T
32. favafawmer gomett gr1 YRyt T S @ aa foren weEwy € -
(a) TTEHITR FHRIHH (b)  WHIUTIH SHEIHH
© (a) 3R (b) S d) frafaa felt wrimy
fz(a)aﬂt(d)ﬂﬁr%l 2) (o) T ZI
3) (a), (b) 3R (c) T ¥ 4)  (b) 3R (d) T T
33. Tr=fafed § 9 999 & 9@ YRl &1 A :
(a) SIfYAE®aRT  (b) <lhdiAh (c) Y AR (d) T
g.(a),(b)s?r{(c)aﬁr%l 2) (b) 3R (d) T T
3) (o) R (d) T 1 (4) I (d) L& )
34. YTCRI-2TMRA SURTH i ShiHl dehrilsh el © 2
(a) HTTERI-3TeRa Wiy sTehe (b) miter-smenfa fefeet
() oTieRI-sTefia iftrm oo (d)  9TieRI-smefia eiferm
T(;f:(a)aﬁ'{(b)ﬂ'iﬁ%\‘l 2)  (c) 3R (a) T T
3)  (c) 3 (b) T 1 4) (d) 3R (a) T T
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35. The two top most task of all the State Resource Centres stipulated by Government of India
are :
(a) Co-ordinating and networking development departments.
(b) Providing consultancy services.
(c) Conducting periodical training programmes to different adult education functionaries.
(d) Production of proto - type teaching/learning materials for different target groups.
Code :
(1) (a) and (d) are correct (2) (c) and (d) are correct
(3) (b) and (c) are correct (4) (a), (b) and (c) are correct
36. What are the important strategies for entering into communities ?
(@) Accept them as they are (b) Live and Learn from them
(c) Teach them (d) Disintegrate them
Code :
(1) (a) and (b) are correct (2) (c) and (d) are correct
(3) (a) and (c) are correct (4) (d) and (b) are correct
37. Which of the following two specific Adult and Non-formal education programme were
experimented and implemented Pre - Independence period in India ?
(a) Farmers’ Functional Literacy Programme
(b) Social Education Programme
(c) Non - Formal education for 6 - 14 age group
(d) Total Literacy Campaign
Code :
(1) (b) and (c) are correct (2) (a) and (c) are correct
(3) (c) and (d) are correct (4) (b), (c) and (d) are correct
38. Which of the following research design specifically used in adult education research ?
(a) Pre experimental design (b) Survey design
(c) Ex-Post- Facto survey design  (d) Participatory research appraisal
Code :
(1) (b) and (c) are correct (2) (a) and (d) are correct
(3) (b), (c) and (d) are correct (4) (a) and (c) are correct
39. were specified in its 1996 document ‘Strategies for Post Literacy’.
(a) Remediation (b) Continuation
(c) Application (d) Communication
Code :
(1) (a), (b) (o) and (d) are correct (2) (b) and (d) are correct
c) and (d) are correct (4) (a), (b) and (d) are correct
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35. WA HEEHR G 6T HETEH gl o foIT 31 Helieeh Fecequl & © :
(a) foerma Gaet faur # a9=aa IR Jeafeht
(b) T HaT Y HIAT
(c) Tafvm g foren wriwaieii & fau smafies gftneror sreiwH 1 STEiSH
(d) fafi @fea SRl o foae We-<rea fefor/ stfarm el @6 dum &
TR
(1) (a) 3T (d) W& T 2) (o) 3R (d) =& T
(3)  (b) 3R () T T @ (@), (b) T () T €1
36. TUSMI H Yol whi Hecerqul LU -3 § 2
(a) SRWEIHEHERH, IW AT (b) W iR dg |
(c) o€ farferd =6 | (d) guUH R
He
(1) (a) 3T (b) W& 1 2) (o) 3R () T ¥
3) (a) 3R (o) & T 4) (d) 3R (b) T 1
37. YRG! Waadl 4 g4 ®F ¥ 3 faftre dig ok TR-siqenfe faen wriswdl 1 w&bm oiR safem
IERIRIRIDI W
(a) ToRuMI T A A& A
(b) HEITS foeT wriwe
() 6V 1499 T & T YT & forg TR-fq=nfien foen
(d) Ui FERd SAfEH
e
(1) (b) 3R (c) & T 2) (a) 3R () T T
3) (o) 3R (d) T T 4)  (b), () R (d) T ¥
38. Ui foren vy A frfafaa & @ 9 sy sifuses o1 fafire w1 @ ST foman S €2
(a) TA-TANTHS Afhed (b) EEE SfeRey
() TH-URe-thael wdeo Afvshed (d)  9TTRRI-STETRa Wiy sTehe
<<
(1)  (b) 3R (c) & T 2) (a) 3R (d) W& T
3)  (b), (c) R (d) =& 1 4) (a) 3R (c) T T
39. 1996 % TETES! ‘ST HIeRdl < fauw wHifai’ o ! foR ®9 9 oo fohan T o |
(@) FER (b) Had
() Wi (d) ¥ER
<<
a)mmm d) 7@t ¥ 1 () (b) 3R (d) &1
3) (b), () R 14%? g 4) (a), (b) R (d) =& T
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40.

41.

42,

43.

44.

The purpose of training is :

(a) To aquire particular skill in defined area.

(b) All round development of a person or persons.
(c) To increase ability in one particular field.

(d) To prepare a person for nonspecified field.

Code :
(1) (a) and (c) are correct (2) (a) and (b) are correct
(3) (b) and (c) are correct (4) (b), (c) and (d) are correct

Extension education involves only :

(a) People’sneed (b) Problems () Resources (d) Teaching
Code :

(1) (a), (b), (c) and (d) are correct (2) (d) is only correct

(3)  (c) is only correct (4) (a) is only correct

The focus of National Literacy Mission (under TLC) was on :

(a) Rural areas (b) Middle class (c) Women (d) SC and STs
Code :
(1) (a) and (b) are correct (2) (a), (c) and (d) are correct

(3) (b) and (c) are correct (4) (b), (c) and (d) are correct

Assertion (A) : Tuberculosis is the most important life threatening opportunistic infection
associated with HIV infection.

Reason (R) : HIV infection and tuberculosis each spread up the progression of the other.
Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3)  (A) is correct but (R) is wrong.

(4) (R) is correct but (A) is wrong.

Assertion (A) : Training focuses more on acquisition of skills.

Reason (R) : Skill upgradation promotes employability.

Code :

(1) (A) is correct and (R) is wrong.

(2) (A) is wrong and (R) is correct.

(3) (A) and (R) are wrong.

(4) (A) and (R) are correct and (R) is the correct explanation of (A).
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40.

41.

42.

43.

44.

eI R T
(a) ORI & H oI shiere sl 9

(b) =AfeRT I1 SATKET hl TEHE! Torhr

(c) Tordlt foiw &5 H &rwar # gfg

d) sifafire & & foru fordt =afaq 1 TR e

e

(1) (a) 3R (c) W& ¥ 2) (a) 3R (b) W& T

3) (b) 3R (c) T T | 4) (b), (c) 3R (d) ¥ T

TOR foren § o wfmfed §

(a) SH-3MEYFHAT  (b) HHEN () HamrEm (d) foeror
<<

1) (a), (b), (c) 3R (d) T T (2) Fad (d) T& T

(3) A (c) TRl T (4) HIA (a) TE T

T TieRal favH (S.Ta . & Aqia) + Fefaiead 8§ 9 ffa W =3 shiga fear ar?
(a)  TTEOT & (b) T o (c) Tfgemd (d) TEH. MR TEd
<<

(1) (a) 3T (b) W& 21 2) (a), (c) 3 (d) T ¥

3) (b) 3R (c) =& T 4)  (b), () 3R (d) T ¥

AR (A) : TG (3Eh.) TR, . FhAv | Geifed e Sl ol Ue1 I Al gaitees
TeaqUl STIrffe® A T

e (R) : TE.3TE. A, 3R qufes (3Laf.) H U Tsh-gE Sl el ¢ |

e

(1) (A) T (R) Sl T& € IR (R), (A) 1 T =0 7

(2) (A) 3R (R) I T T, AT (R), (A) T el AR T < |

3) (A) ¥ T, AfhA (R) 7o g |

(4) (R) W& T, @iferd (A) Tod B |

AR (A) :  TINETO H FINTA ot Y T A hi-=d TRl ST & |
e (R) : I 1 3o USTIR & 70 § gig it T

?0

) (A) TE 3R (R) T B |
) (A) 7o § SR (R) ¥ B
) (A) 3R (R) T T

)

(
(
(
4) (A) T (R) & € IR (R), (A) T G =0T 2|

1
2
3
4
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45. Assertion (A) : Teaching learning materials for adult should be based on adult psychology
and their needs.
Reason (R) : Teaching learning materials used in formal basic education is not suitable
for adult learners.
Code :
(1) (A) is correct and (R) is wrong and (R) is not the correct explanation of (A).
(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(3) Both (A) and (R) are correct.
(4) Both (A) and (R) are wrong.
46. Assertion (A) : The ‘method demonstration” show how to do a job step by step.
Reason (R) : Method demonstration is an experiment and trial.
Code :
(1) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are wrong.
(3)  (A) is correct but (R) is wrong.
(4) (R) is correct and (A) is wrong.
47. Assertion (A) : Literacy and skill acquisition is viewed as a means of socio-economic progress.
Reason (R) : Literate and skilled population participates enthusiastically in economic
development.
Code :
(1) (A) is correct and (R) is wrong.
(2) Both (A) and (R) are wrong.
(3) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(4) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
48. Assertion (A) : Gender bias is part of social value system which has roots in the family.
Reason (R) : A female child imbibes all these values which stand in the way of women
development.
Code :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3)  (A) is correct and (R) is wrong.
(4) (R) is correct and (A) is wrong.
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45.

46.

47.

48.

AfeRe (A) :  Tig i freror siferm armft i & Teifo™ iR St stavgesarell W snenfia
BT =M |

T (R) : siro=nfies et foren ® wger fovearor siferma wmmft die frenfef=i & fore swger = 71

<< :

(1) (A) T@ & T (R) 7T § 3R (R), (A) it T =0 T )

(2) (A) TS (R) 3 W € 3R (R), (A) T ¥&l A T |

3) (A) 3R (R) < T& )

(4) (A) 3R (R) I e

afrere (A) :  fafy yeeia' <orian € for fonelt &l 01 9 =Rl €01 9 fhen S|
& (R) : faftr geeiq T T T T ¥

(1)  (A) 3R (R) i LI &, AR (R), (A) BT Tl = 76 2|
(2) (A) ¥R (R) Tl TTord €

(3) (A) W& T, Wfhd (R) Tod T

(4) (R) W& T 3R (A) 7o B |

SAMURAT (A) :  TIERAT IR HIFTE ht W 1 HTRSTR- 71 YoIfa & Tk IeE & & HqET S
gl

e (R) : &R 3R R SaeE A fasm H Scaeyes v ofdt T

(A) T& % 3R (R) TeTd 7

(A) 3 (R) <l T € |

(A) T (R) SH @& € iR (R), (A) 1 G =a0E ¥ |

(A) 3R (R) S &I &, @R (R), (A) BT T = 4 2

AR (A) :  <ifiTeR YguTa TS god Yuiel 1 37 ¥, fgent o1 ufer # ffed €|
R) : SRt 51 A+t ol 1 ST i 8, S Higensil o foehr o AW § o1 o d
2l

(1) (A) W& (R) I @&t B IR (R), (A) T 9 =& 2

2) (A) 3R (R) SH W& €, wAfeh (R), (A) 1 T =@ 2 R
(3) (A) W& T IR (R) ToId B |

(4) (R) 92 ¥ 3R (A) T T
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49. Assertion (A) : Organisations are spending time and resources for capacity building of its
work force.
Reason (R) : Trained manpower is an asset to an organization.
Code :
(1) (A) is correct and (R) is wrong.
(2) (A) is wrong and (R) is correct.
(3) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(4) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
50. Assertion (A) : Government of India has improved the productivity of its people.
Reason (R) : National Health Policy addressed the urgent need to improve the health
system in India.
Code :
(1) (A) and (R) are wrong.
(2) (A) and (R) are correct and (R) is the correct explanation of (A).
(3)  (A) is correct and (R) is wrong.
(4) (R) is correct and (A) is wrong.
51. Assertion (A) : Some districts in Southern India achieved Total Literacy and improved
voting participation.
Reason (R) : Total Literacy Programme worked in enhancing the literacy skills and
creating social awareness.
Code :
(1) (A) and (R) are correct and (R) is the correct explanation of (A)
(2) (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is wrong but (R) is correct
(4) (A) is correct but (R) is wrong
52. Assertion (A) : Traditions and customs are agents of social control and these agents work
through Social groups.
Reason (R) : Agents of social control do not work through caste and class.
Code :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are wrong.
(3) Both (A) and (R) are correct and (R) is correct explanation of (A).
4) ) is correct but (R) is wrong and (R) is not the correct explanation of (A).
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49.

50.

51.

52.

AR (A) 1 TTSH 39 HE I & &rar FHi0 & foe a9 3R Hareml & &g W ® R
& (R) : yfrfera A wifs Gea & faw we uftemta §

<< :
™ (
@ (
G (
4 (

e § 3 (R) o )
W%aﬁI(R T2
R) & € 31X (R), (A) T T == T

A
A
A) T
A 3ﬁI(R 7 %, éw%h—vr(R (A) I TE = T R

N - - -

AMIRT (A) :  TRA TEHR A U STl bl ScdTeehal B GoR foman 7

e (R) : T T Hifd 4 YRA ! T Julel! | GUR A i 309 Sawdehal T &AM
feam

e

(1) (A)aﬁ'{(R Terd % |

2) (A)TE (R) T ¥ IR (R), (A) F T& == T

(3) (A)ﬂ%"’r%a?r{(Rnaﬁ%n

(4) (R) &I T 3R (A) T |

AURT (A) : IOl RA & F© el 7 qol Tnera =1 ded ura fhan AR AaeH-vriedt #
YU ST |
e (R) : Ul HIERAT HRIHH 7 FIERAT HTA § HaEH FH R AHISS SRl e

i+ BT Y Tha |

) (A) WS (R) 9& € X (R), (A) T & =0 ¥

) (A) 3R (R) W& E, WA (R), (A) FT G = T R
) (A) 7Ted §, ARRA (R) T R

) (A) FE , Al (R) Td T

AfueRe (A) : TR iR Afd farst wrmfsres femm & sifiyerat § o) 3 atfvreral Trfses w9g
% T | e A T
e (R) : grrfstes fimmn & sifieskat Sifa @R ot & ooz @ & =1 |

(A) 3T (R) S W& ¥ |

(A) 3R (R) SHI TTerd €|

(A) T8 (R) ST W&t € TR (R), (A) T T AR T |

(A) & g, Afer (R) TTerd © IR (R), (A) i Tl =A@ & § |
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53. Assertion (A) : Adult Literacy among disadvantaged group of adult is still very low.
Reason (R) : ‘Education for all’ initiatives has not yielded expected results among the
different target group.
Code :
(1) (A) is correct and (R) is wrong.
(2) (A) and (R) are correct and (R) is a correct explanation of (A).
(3) (A) and (R) are correct but (R) is not correct explanation of (A).
(4) (A) is wrong and (R) is correct.
54. Assertion (A) : Quality of life is measured by nutrition, education, skills and standard of
living and longevity etc.
Reason (R) :  Higher education has nothing to do with the longevity of life.
Code :
(1) (A)is wrong and (R) is correct. (2) (A) is correct and (R) is wrong.
(3) (A) and (R) are correct. (4) (A) and (R) are wrong.
55. Assertion (A) : The folk media is primarily used for entertainment but it can also, promote
educational values and help in cultural continuity.
Reason (R) : The folk media include, festival, plays, puppet shows, dance, song, story,
poetry and debates.
Code :
(1) (A) and (R) are correct but (R) is not correct explanation of (A).
(2) (A) and (R) are correct and (R) is correct explanation of (A).
(3)  (A) is correct and (R) is wrong.
(4) (A) is wrong and (R) is correct.
56. Assertion (A) : The quality of adult education depends much on its management and
administration.
Reason (R) : Resource structures provide technical and resource support to the different
administrative bodies.
Code :
(1) Both (A) and (R) are wrong.
(2)  (A) is correct but (R) is wrong.
(3) Both (A) and (R) are correct and (R) is not correct explanation of (A).
(4) Both (A) and (R) are wrong and (R) is correct explanation of (A).
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53.

54.

55.

56.

AMURYT (A) :  fd Ui T o Uig Teran 1t off f= 81

e (R) : ‘geft & faw foren’ =t wew @ fafve wfera wo@i § sfera aftom 72 gu €
<< :
(1) (A) 5@ 8 3R (R) 7T T |

2) (A) T (R) T& ¥ 3R (R), (A) T =0
3) (A)

4) (A)

4

A) 3R (R) & ¥, «fA (R), (A) FT T = = 7|
A) Terd ¥ 3T (R) W&t ® |

AR (A) :  SfTo i T[urEE S Ao, fren, diere oiR S W qen Ssitad bt St & A
SIS |

e (R) : 3= foen &1 Sftaq w1 el | i ey 11 B

<< :

(1) (A) 7o g iR (R) W& B | 2) (A) @ B 3R (R) T T
3) (A) 3R (R) T 1 4) (A) ¥R (R) T ¥

ARk (A) : ik HIEAH T FARSH o foru Sw=inT feman S §, oife are diferss goaii ot ot
TredTfed T ehel © 3R Fihiash Fadar § el s Fehdl ¥ |

e (R) : T AeAd | @RR, e, Hheqdal YSEH, Jod, Td, her, Hed IR F%d
gftfera €1

e
1
2
3
4

A) 3R (R) & &, «fh (R), (A) 1 T =0 T €1

A) T (R) & € 31X (R), (A) T T =@ T

A) & § 2R (R) TTemd ¥ |
)

(
(
(
( A) TeTd ¥ iR (R) W&t B |

)
)
)
)

AR (A) :  Uig forem =it Turen agd W1 a9 SHh FeE IR yemed | AR g
e (R) : o A fafie gemafTes ferrll @ detet IR e et gaefF yem
FA T

e

1
2
3
4

(A) 3R (R) S Ted % |
(A) Tl §, @fer (R) Tord § |
(A) T (R) T T&l € 3R (R), (A) 1 el =A@ 76

(
(
(
(4) (A) TS (R) M TTerd € SR (R), (A) T e AR

)
)
)
)
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57. Assertion (A) : Most Indian parents feel that they must have atleast one son, to provide
economic security and for ritual reasons.
Reason (R) : To many some rituals can be performed only by male members.
Code :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are wrong.
(3)  (A) is correct but (R) is wrong and (R) is not the correct explanation for (A).
(4) Both (A) and (R) are correct and (R) is the correct explanation of (A).

58. Assertion (A) : Modern statistical methods are very useful in research in different fields.
Reason (R) : Qualitative analysis still forms the backbone of social science research.
Code :

(1) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(2) (A) and (R) are correct but (R) is the correct explanation of (A).

(3) (A) and (R) are wrong.

(4) (A) is wrong and (R) is correct.

59. Assertion (A) : Standardisation of tools is necessary for quality research.

Reason (R) : There is no need of standardisation of tools.
Code :
(1) Both (A) and (R) are wrong.
(2) (A) is correct and (R) is not correct.
(3) Both (A) and (R) are correct and (R) supports (A).
(4) Both (A) and (R) are correct but (R) does not support (A).
60. Assertion (A) : Lifelong education is a process of accomplishing personal, social and
professional development.
Reason (R) : Lifelong education includes non-formal and informal patterns of learning.
Code :
(1) Both (A) and (R) are correct. (2) Both (A) and (R) are wrong.
(3) (A) is correct and (R) is wrong. (4) (R) is correct and (A) is wrong.
61. Assertion (A) : In the planning stage of research design one of the components is research
problem and its theoretical framework.
Reason (R) : The analysis of research results depends on planning of research.
Code :
(1) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(2) (A) and (R) both are correct.
(3) (A) and (R) both are not correct.
(4) (A) is correct (R) is not correct.
posens | HIMIDNRANAI 2 Faper!




57. SifUeRed (A): SIS IRAT Af9ES Hegd Hd € fF 3 A | FH Th A 76T Bl
ey, S 3 el RET UM i 3R T ST i |
e (R) : FE el H hael T YSEl gRI SR Heeh T furg S gehdt ¥ |
W’
1) (A) 3R (R) 2 T& )
) (A)a?r{(R)aﬁW%l
(3) (A) W& T, Ak (R) Teld & 3R (R), (A) T &l AT 78 ¢ |
(4) (A ) TS (R) T T&t € 3R (R), (A) 1 &l I )

58. AIRIA (A): ST wifer fafuar fafis & & sy & et St et 1
& (R) : TUTcHe fagerooT et oft | form & oty # STaR-%dy ¥
He :
(1) (A) 3R (R) S T& &, A (R), (A) T Tel =0 =& 2|
2) (A) 3R (R) T& €, AfFT (R), (A) T T&l AR T
3) (A)Sﬁ'{(R Terd B |

4) (A) T T 3R (R) ¥ B

59. USRI (A): IR H1 HHESIH UMCHE WY & Q. Tawas Tl
e (R) : SUHITN & TR i hIE SATITIHT el ¢ |
<
(1) (A) 3R (R) 7@ ¥ |
2) (A) T T IR (R) ¥ T T
(3) (A) TE (R) I W& B 3R (R), (A) T GHT A T
(4) (A) 3R (R) I T T, AAfHA (R), (A) T G0 TE el T

60. MR (A):  TSier foren Foh, TSI 3R USIeR foenmd 61 UM &t T 9feRan § |

& (R) : arita foren o stferm & Tr-sfio=nfier @R si=nfie wfoa aftaferd ¥
<

1) (A) 3R (R) S T&t ) 2) (A) 3R (R) I Terd £

(3) (A) E& ¥ i (R) TTerd B 4) (R) W2 T 3R (A) Tod B

61. STURT (A): Ty Afihcy & S =01 § T T2 Wy Tre 3R 3! Jgifas T
RIS
& (R) : Iier o RO ST farereor Sty & e W AR g ¥

He :

) (A) 3R (R) ST W& ¥, AfFA (R), (A) T T =0 & T
) (A)Gﬂﬁ'{(R ERHEL

) (A) 3R (R) S w2 T T

) (A)TEE, (R)ﬂ@ﬂﬁ%l
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62.

63.

64.

Assertion (A) : Population education is to understand the impact of large population on

development.
Reason (R) : Population growth can be controlled through awareness and proper services.
Code :
(1) (A) and (R) are wrong. (2) (A) and (R) are correct.

(3) (A) is correct and (R) is wrong. (4) (A) is wrong and (R) is correct.

Match List - I with List - II using code given below :
List - I List - II

(a) India (i) UNESCO Fundamental Education Centre
(b) Nepal (i) Dept. of Public Instruction
(c) Philippines (iii) National Non-formal Education Council
(d) Thailand (iv) National Fundamental Education Centre
Code

@@ (b) (9 (d)
1 O G (@v) (i)
(2) @@ @) (@) @
(®) @Gv) @) @ @
@ O @) @) (@)

Match the List - I with List - II using code given below :

List - I List - II
(a) Lecture (i) Role play
(b) Reading (i) Simulation
()  Audio visual (iii) Practice
(d) Presentation (iv) Demonstration
Code

@@ (b) (9 (d)
1 O G (@) ()
2 O @) @@ @)
G O @) @) (@)
@ Gv) @@ (@) ()

iv)  (ii) )
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62. 3R (A) :

63.

64.

SEE foren 1 32y faenmd W fawimel SHEe o 99re sl THEA B

& (R) : ST 3R gYfaa st & Arem § smaen gig o e fean st awar 81
e

(1) (A) 3R (R) Tora ¥ | 2) (A) 3R (R) T& ¥ |

3) (A) W& T X (R) 7o 2| (4) (A) e ® SR (R) & B

1 fd T3 T T TEEar 9 oIt - 161 Gl - 11 919 gafad L

el -1 Tt - 11
(a) WRd () IRl Thew=d TShH HeX
(b) U (i) feurdte offh dfscten TgRM
(c) Trefrdrd (iii) YA AFRHA TRYHA HSEA
CORRIES LSS (iv) AYHA THEH=E TShvE Hex
<

@@ (b) (9 (d)
(1) @ i) (v) (i)
2) @) @) @v) (@)
®) (@v) @) @ @
4) @O @) @) (@Gv)

= fed T Fe H TEEar ¥ Rl - 1 G - 11 91 gafed oL
I

it - et - 11
(a) AN () AR
(b) TeA (i)  STIHIT
) 9ATHA (iii) 3T
(d) YA (iv) <A
<< :

@@ (b) (o) (d)
1) @ @) @v) (i)
2 @ @) @) (Qv)
G) @ @) @) ()
4) (iv)

@ @ 0
IR a7
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Match the List - I with List - IT using code given below :

List - II
(i) knowledges which is essentially skill based
(i) knowledge which is higher level declarative
(iii) knowledge which is concerned with preference
(iv) knowledge which is tested

List - II
i)  Motivation
ii

(
(
(i
(

~"

Planning
iii) Communication
iv) Research

Match the items given under List - I with those in List - II and select the correct answer

()
(i)

(i)
(iv)

List - II
Helps in drawing specific conclusions

Is a systematic observation, classification and
interpretation of data

Quick approach to analysing a situation in a more
cost effective manner

Helps in collection of data

65.
List - I
(a) Declarative knowledge
(b) Functional knowledge
(c) Procedural knowledge
(d) Conditional knowledge
Code :
@@ (b) () (d)
U G @) @ 0
@ (v 6 @ )
@) (v G @ @
@) v @ 0 @
66. Match the List - I with List - II using code given below :
List - I
(a) Response and feedback
(b) Stimulus and incentive
(c) Observation and analysis
(d) Advance thinking of events
Code :
@ (b) () (d)
O G 6 G @
@ @ 6 @ W)
@) O G @) (@
@) 0 @ @ @)
67.
using the code given below :
List - I
(a) Questionnaire
(b) Hypothesis
(c)  Scientific method
(d) Rapid Rural Appraisal
Code :
@@ (b) (9 (d)
O @) O @ @)
@ 6 @) @ G
@) (v 6 @) G
4) @ (@) @i @Gv)
posers [N
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65.

66.

67.

i ii) ii i
poset \IIHI\\||H||H\||||\|||H\||\|H|\|||||\||HIHIIHH

1 fed T Fe T TErEar ¥ Gl - 16 G - 11 91 gafed oL

YOS FH
FHEHS JH
YfshaTcHS AH
fferfae= I

[}

[N
H\—/b—l\_/

et - 11

i)  STEvIE ®Y Y FHIE R qH
i) ST YIS JH

iii)  wrefHeRar senfia =

v) T |

1 fed T3 Fe T TEEar ¥ Gl - 16 Gl - 11 91 gafed oL

A/(?AA
YEC 22

~— — — N

N N N N
NGNS

‘?‘Jf’ﬁ,

gfdfshan T gs3urm
ST T YicdEh

AacIhd Tg foers

et - 11
ARTgTor

i) A
iii) HER
A4 ?'ﬁ%'[

Iﬁf@@ﬂﬁﬁgﬁﬁ 11 1 WGl o §1el Gafad ol SR < 8 T e &l Jeed 9 9 SW

it - 11
fafyre fofEi o fafo & e = B

ii)  SATRS T GoAafeerd Jerl, aefieRor iR faa=m
iii)  SAfeeR Yo gvifaa € 9 fefa fovero 61 @fRa sarm

3Miehgl T i W Heg il T
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68. Match the following List - I with List - II, use the code given below :

List - I
(a) Guide Book
(b) Primer
(c)  Short Story Book
(d) Work Book
Code :

@@ (b) (9 (d)
1) @) Gv) @O @)
() Gv) @) (@) (i)
G) @) @Gv) (@) @
@ @O @ (@) (i)

(
(it
(
(

i)

~—"

iii)
iv)

List - II
Basic learning material for adult illiterate
Writing and Reading exercise book for adult learner
Learning materials for Neo-literate
Teaching material for Instructors

69. Match the following List - I with List - II, use the code given below :

List - I
(a) Chi-Square Test

(b) t-Test

(c) Anova Test

(d) Correlation Co-efficient Test

Code :

@ () () (d
1) @) @) @G @)
2 @O (v) (@) ()
@) @v) @ @) ()
(4) (v) (@) @) ()

List - II

(i)  Find out the difference between dependent and
independent variables

(i) Find out the relationship between dependent
and independent variables

(iii) Find out the variable between dependent and
independent variables

(iv) Find out the association between dependent
and independent variables

70. Match the List - I with List - II using code given below :

List - I
)  Paulo Freire
(b) Deleon
(c) Lindeman

(d) Jarvis
Code :
@@ (b) (9 (d)

1 @) Gv) @ ()

2 @ @ @) @)

() @(v) @) @ @

@ @) @Gv) @O @)
posers [N

List - II
begins where vocational education leaves off
cultural action for freedom
to all education of adults
all kinds of education for adults
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68.

69.

70.

poss \IHIIHII

= fed T e gRI G - 1 Gl - 11 % 91 Gafad i :
gt -1 et - 11

(a) TR TEE () e FreR & fou qo siferm gl
(b) AR (i) g fanefl % for ored e 9T v qEah
() <1 el T (i) - Terfer < forg stferm @l
(d) @1 gheeR (iv) 3Tkl o forq erfermm ol
<< :
@ () (9 (d
(1) @) @) @O ()
2 (@) @ () (i)
(3) (@) (v) () ()
@ @ @) @v) (i)
= fed T3 h T werEar W gt - 1l Gl - 1 T GAferd L
Tt - 1 it - 11
a)  FR-THERR T ) @i e T =R ok S SR EiSt
b F - i) 3TfYd TE @ad =) o o FaY Gl

( (i

( (

(©) THETE (iif) SNHd T TEas = & o= =T @S

( _ (iv) ST Td Toras =R’ o St S @S

R -1 it - 11
(i)  Tel AT foeT Tu 2l € 9%l ° ¥E
(i) T % fou wiwpfasn HE

fefeta (iii) TG T Gt frem
(iv) drel o fore 9+t ger =t fan
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71. Match the List - I with List - II using code given below :
List - I List - II
(a) Maslow Folk High school
(b) Norwood Operant conditioning
(c) Grundtwig Hierarchy of needs
(d) Skinner Information needs pyramid model
Code :
@ () (9 (d)
O @ O G @)
@ ) v 0 G
@) v @) 0 G
@) 0 @) @ @)
72. Match the List - I with List - II using the code given below :
List - I List - II
(a) National Rural Employment Guarantee Act (@ 2007
(b) National Health Insurance Scheme (i) 2005
(c) Janani Suraksha Yojana (i) 2006
(d) Swachh Bharat Abhiyan (iv) 2014
Code :
@ () (9 (d)
O 6 @ G @)
@ O @) @ )
@) ) (O @ @)
@) @ O G (@)
73. Match the List - I with List - II using code as given below the lists :
List - I List - II
(a) Most populous state (i) Bihar
(b) Least populous state (i) Kerala
(c) State having highest literacy rate (i) UP
(d) State having lowest literacy rate (iv) Sikkim
Code :
@ () (9 (d
O G @) @ 0
@ @ O G @)
@) (v @) @ o
@ 0 @) @ @
posess | 1HIINMARRA 2
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71. = QU 7T e 1 TART LA L G - [ 0l Gt - 11 |19 GaAferd Hifa
et - 1 et - 11
(a) T (i) I TE A
(b) RIS (i) STI=e HSHT
(o) Hfom (iii) TR 3T Frew
(d) TR (iv) TRrE fed frufre dfea
<
@@ () (9 (d
1) @) (@) @) ()
(2) () @(v) (@) ()
®) (v) (@) (@) ()
4) @@ (@) (@) ()
72. = ST T Fe 1 FART I L G - 1 1 Gt - 11 3 |12 GHfed it
Tt - 1 gl - 11
(a) TS IO TSR TRET Afaf=m i) 2007
(b) U TS AT A (ii) 2005
(c) ST Y& Al (iti) 2006
(d) =B YRd AYIHE (iv) 2014
<<
@@ () (o (d
® @ @) @) (i)
2 @ @) (@) (v)
@) (@) @ @) (i)
4) @) @ (Gv) (i)
73. = QU 7T e 1 TART Hd T G - [ H19 Gt - 11 R GAfad i .
Tt - 1 gl - 11
(a) HITYR SHEAT ATl T4 () fo=r
(b) Y FH TTEESA AT T (i) HA
() IoH HI&RAT S a1 TH (iif) ST G
(d) TT=Tam FraRar e (iv) ToferA
e :
@@ () (9 (d
1) @) @) @) @
2 @) @ @) (i)
®) (v) (i) @) @
4 @@ (v) @) (i)
rosss | HIAANEAID 5
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74. Match the following List - I with List - II, use the code given below :

List -1

a) Sriniketan

S

Gandhigram Rural Institute
c) Literacy House
d) Seva Mandir

Code :

List - II
i)  Uttar Pradesh
ii) Rajasthan
iii) West Bengal

iv) Tamil Nadu

75. Match the List - I with List - II using the code as given below :

List - I List - II
(a) Confirmation and change of existing (i) Learning
pattern of knowledge and behaviour
(b) Make aware and encourages the learner (i) Motivation
(c) Teaching-learning Strategies for adults (iii) Fertility

(d) Determinant of population growth
Code :
@ () () (d
1 @ @) @) (@)
2 () () (@) (v)
(i) @) (@v) @)
4) (i (iii)
I

Do G
rosens |[[ || NITAA

|68}
~—"

(
(
(

v)
1

(iv) Andragogy
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74. = QU T FHe 1 GART HIA L G - [l Gt - 11 ' |19 GAferd Hifa

et - 1 et - 11
(a) &t faohaa () WU
(b) T IO HEe (i) SR
(c) wEm&Rar fiehaH (iti) afe=m ST
(d) ga1 HfR (iv) dfHerrg
<< :

@@ (b)) (o) (d)
1) @) @ @ @)
2) @v) @) @) (i)
3) @) (@v) (@) (i)
(4) @) @) @D ()

75. = {3 T3 e i TR § gE - 1 gE - 11 1o gafed e
gt - 1 et - 11
(a) T SR FFERR F HIS[G TEY I TAEH 3R IR () erfrm
(b)  foremeff =61 SMTE IR reafed e (i) IR
() el & fau faeror-siferm fafuat (iii) oA

(d) <FEEn ghs @ fuRy (

¢ (d)
i) (iv)
v) (i)

(ii)

)
iii)  (iv)
iv)
@ iv)

rosss [| [l

v
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76. Match the List - I with List - IT using code as given below the lists :

(@)
(b)
(©)
(d)

List - I List - II

5 June (i) Teacher’s Day

5 September (i) International Women’s Day
8 September (iii) World Environment Day

8 March (iv) International Literacy Day

Code :

@@ (b) (9 (d)

77. Match the following List - I with List - II, use the code given below :

List -1 List - II

(Name of the Programme) (Which year)
(a) National Literacy Mission (i 1994 -95
(b) National Adult Education Programme (i) 1989 - 95
(c) Total Literacy Campaign (i) 1978
(d) Post-Literacy Campaign (iv) 1988
Code :

@@ (b)) (o) (d)
1 G @ @ W)
2 @ @ @) (@)
G) @) @ @) ()
) (@(v) @) @ @

1
poses

(
T

il 5
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76. == fQU 7T e 1 TANT HId T G - 1 6 F1e G - 11 1 GAferd HIfS

()
(b)
(©)
(d)

e

1
2

(1)
(2)
(3)
(4)

4

77. == fQU 7T e 1 TART HIA L G - [l Gt - 11 |19 GAferd SIS

)
)
)
)

4

posns |

Tt - 1

51

5 fadet

8 fadet

8w

@ (b) (o) (d)
O @) () ()
(i) () (v) (i)
G) (@) (iv) (i)
(i) (D) (v) (i)

et - 1
( SRTEIRH T T )
T wieRar faeE
TS Ui e sdsa
Ui H&RAT ST

II-T&RAT ATIH

@ () (9 (9
i) @@ @ @)
@ @) () (i)
(v) @) (i) (i)
N )G

(v) i) @) 0
NI

(
(
(
(

i)
i)
i)

iv)

et - 11
e foow

i Afgen faaq
fava qateru feag
ST e fead

Tl - 11
(= | ad )
() 1994 - 95
(i) 1989 - 95
(i) 1978
(iv) 1988
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Match the List - I with List - II, use the code given below :

List - IT
Personal calls
All printed matter

Training courses

Radio/TV

Match the List - I with List - II using the code as given below :

(a) World Conference on Education for All (Jomtien)

(b) International Conference on Adult Education (Hamburg)

(d) Conference on Environment and Sustainable Development (Rio)

78.
List - I
(a) Individual contact method
(b) Group contact method
(c) Mass contact method
(d) Written contact method
Code :
@ ®) © @
O O @ @ @
@ @) @) @ 0
@) ¥ @ 6
@ @ () @ )
79.
List - I
(c) World Education Forum
Code :
@ ®) © @
W @ @ @
@ @ 6 @G @
@) @ O @
@ O @ @ W)
yosens |[[[1I1IVAN
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List - II
1990
1997
2000

1992
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78. = fQU 7T e 1 GANT T G - 1 ! G - [T o 91 gaferd i :

79.

posers |

S

—~ —~ — —~
@)
~—

1)
(2)
(3)
(4)

1= ST 7T e K1 TAN A G G - 13 1 G - 11 1 gaferd i :

Tt - 1 gl - 11
e T e fafy () st icw
g T e fafy (i) & giga qmmf
S Tvh fafy (iti)  wf¥reroT HrSIsRH
forfaa weaeh fafy (iv) Yfean/d .
@@ () (9 (d)

1) (D) (@v) (i)
(i) (D) @(v) @)
(v) (@) @) (i)
(i) @) (@) (@)

el - 1
Tt & fora fen ) geq (Smfeaq)

g e W i awe ()
fowa foren 59
TfeRor 3R gad fasm g e (@)

@ (b)) (o (d
(v) () () ()
(v) () (i) (i)
v) () ) (i)
@ ()

(
LT

i) (i

)
Il
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80. Match the List - I with List - II using the code as given below :
List - I List - II

(a) Population Education deals with (i) Reading, Writing and Numeracy

(b) Environmental Education helps in (i) Continuing Education

(c) Basic Literacy includes (iii) Quality of life

(d) Equivalency Programme is part of (iv) Sustainable development

Code :

@ () © @

O 6 @ G @)

@ @ @ O @

@) (v G O (@

@) @ G @) 6
81. Arrange the following in order of their establishment :

(a) Bombay Plan

(b) Planning Commission

(c) National Planning Committee

(d) The People’s Plan

Code :

1) (@ @ (@ k) 2 @ ®) @ d @) (© b) @ d @) ®) @ @@
82. Arrange the stages of curriculum in order of their usage :

(a) Events (b) Evaluation (c) Contents (d) Context

Code :

1) @ ©) @ k) 2 (@) @ ® 6 (© @b d @ (© (d) @), b)
83. Arrange the following programme in the ascending order using code given below :

(a) Mass Programme for Functional Literacy

(b) National Adult Education Programme

(c) Population Education Programme

(d) Post Literacy Programme

Code :

1) @b @0 @ OG0 0 @ ® 066 d @ @@ 0
84. Arrange the basic ways of Adult learning in sequence :

(a) Learning by doing (b) Learning by sensing and feeling

(c) Learning by watching (d) Learning by thinking

Code :

1) © ® @)@ @ © @@ ® G (@@ b @ @ @, b) @ (d
posers [N . Fapec




80.

81.

82.

83.

84.

posers |
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e Q
~ N
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(a) HTH HiE (b) shEeeF SV ¥ HRE
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85. Arrange the planning process in sequence order :

(a) Regional groups (b)  Special interest planning groups

() Community overall organisation (d) Village, block, district, country

Code :

1) @) © @ k) 2 @ k)@ (d @) (© ()@ G @ )@ e @
86. Arrange the following steps in formation of social values in right order :

(a) Norms (b)  Social Change

(c) Formal and informal education (d) Scientific and technological change

Code :

1) @, @ (b) (D @ © @ b)d G @ @ @bk @ @, b)@d, c
87. Arrange the following Higher Education bodies in a chronological order :

(a) College

(b) Ministry of Human Resource Development (MHRD)

(c)  University Grants Commission (UGC)

(d)  University

Code :

1) @, () (9 ®) 2 (@ ®) @ 6 &) @ @@ @ (© @ b)(d
88. Arrange the following programmes in order in which they were launched. Use the code

given below :

(a) Community Development Programme

(b) Etawah Pilot Project

() MNREGA

(d) Jana Dhan Yojana

Code :

1) @ b) @ @ 2 ®) @ @ @ @) @ ®)d(© @) (© b @@
89. Arrange the proper sequence in writing a programme report :

(a) Implementation (b) Objective (c) Rational (d) Target

Code :

1) © k) d) @ 2 @ k) (@ @) ()@ G @ ®) @ (@
posess [ IANHLANAN 2 Fapec




85.

86.

87.

88.

89.

posers |
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<

1) @ @ @)@ 2 (© @ b)) d @) @ @bk @ @, ®)@dd

freafafeaa s faen el &1 TR w1 § gorafeerd &
(a) Rl
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frefafed wriswHl 1 3% RY & %8 § afied w31 9 3 7 F2 &1 5@
QeI fashm wrihd
31 TREE ISiae
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(d) S & =S
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TN i




90. Arrange the following stages of staffing in order of their use :

(a) Induction (b)  Screening

(c) Interview (d) Application

Code :

1) (@) (@ )@ (2 (© @) ®d) @ @) (© (@@ bk @) @, b) @ (@
91. Which could be the best sequence in any communication processes ?

(a) Coding (b) Sending (c)  Receiving (d) Decoding

Code :

1) (@ © )@ 2 @ ®) @ @ @) ) @@ d @ © b d (@
92. Arrange the following open universities chronologically according to their establishment :

(a) Indira Gandhi National Open University

(b) R. Tandon Uttar Pradesh Open University

(c) Rajasthan Kota Open University

(d) Andhra Pradesh Open University

Code :

M 0, @ @ @ @@ b0 @ ©0da @ @@ e b
93. Arrange the phases of programme execution :

(a) Initiation (b) Getting acceptance

(c) Planning and organisation (d) Action and Evaluation

Code :

1) (© @, ) & (2 ®) @) @©) @ @) @ b @ d @ (@, b) @ (@
94. Arrange the agencies which are closely associated in organisation of skill development in

year of establishment :

(a) State Resource Centre (b) Jan Shikshan Sansthan

() Continuing Education Centre (d) Krishi Vigyan Kendra

Code :

1) (@), (b)) @ (2) (d) (© @ (k) @) (© (@ k) @) @, ®) @ «d
95. Arrange the stages of Research in order of being undertaken and choose the answer using

code :

(a) Sampling (b) Formulation of Research Problem

(c) Tabulation and Analysis of Data (d) Data Collection

Code :

M B, @ @O @ ©G0 @ @ @bcd @ @ @ b
posens | HIMIDNRANAI u Faper
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92.

93.
94.
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Read the passage given below and answer the question that follow based on your understanding
of the passage from question 96 - 100.

Literacy and Education are essential preconditions of accelerated economic development as
it has been realised that human resource development (HRD) holds the key for attainment of social
and economic goals which can not be achieved by investment in physical resources alone.
Prof. Amartya Sen in his address to the members of the Confederation of Indian Industry (CII) in
New Delhi, said that “The neglect of basic education, elementary healthcare, land reforms and
those parts of infrastructure that favour smaller enterprise in Indian Public Policy makes the country
more vulnerable to the negative effects of globalizing process. The market economy flourishes on
the foundations of social development. Contemporary market based economy success rests on the
solid foundation changes that had occured earlier and India can not simply hope for that magic to

happen without enabling those social changes in education, healthcare and land reforms.

96. Prof. Amartya Sen is a world famous person on :

(1) Education (2) Economics (3) Environment (4) Sociology

97. Human Resource Development depends on :

(1) Co-operation (2) History (3) Entrepreneurs (4) Education

98. Better infrastructure favours to development through :
(1) Change in public policy (2) Changes in education, health and land
(3) Both (1) and (2) are incorrect (4) Both (1) and (2) are correct

99. Globalization means
(1) Micro economy (2) Macro economy

(3) Market economy (4) Global economy

100. The above paragraph emphasis more on :

(1) Micro enterprise (2) Macro enterprise
(3) Global enterprise (4) Mall enterprise
-00o0-
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3R (WH. 96 - 100 ) : el g3 T =E i U 3H TTTIE ht TN AH ok MUR W fed &
I RIS ¢

TeRar IR foren @@ enfefe fawm it e qd st ¥ St fo sow fag & g © fF ama
o forg (TH.3R.EY. ) arifstes 37K STffer ceaii ot UTed i sl st & it A Aifdes Gamesi § o
R SfSia & fhar = TR § 1 WL o0 99 7 fooelt § herE oAk fea Seil (WM eE.) &
=i & T Halred H et iR gt fran @t sten, mafie e e, yft gur ok gt g %
A I, S ARATS ek A H DI SUHH 1 FHET HL €, SRR TlHAT o TehIHE G9IE oW i Ao
HHSIR I & | TSR STefeae AHfSieh foentd ot fid T Hell-Tet! | FHehTei TSR ST sTeferaen
! TOReTd] WSt STHRYd TR W feht & S Teat 8 sifided | § 3T e, wameen dan oK of gami
37 G IREdH! Sl I fohd SR IR Hest 39 =H@RR ot ST | 721 18 Heh |

96. . 3wl WA foRw & & fava wfag =afe €2
(1) Taam (2) ST (3) TR (4) HHSETES

97. 4 Hae o feg w fadft &2
(1) ¥ (2) sfde™ (3) IUHH 4) foem

98. ST SMURYA T fashrd 1 gHe fhash gr1 Xt € 2
(1) @ fifa o afterdd (2) Toen, w@re SR yfF # 9w\
3) (1) 3R (2) I T ¥ 4) (1) 3R (2) I T ¥

99. TSRV HT AW T :
(1) 9g&w srefegeree (2) Jgd srefeHeE
(3) WTSIR sTeferareen (4) dfvaen srefereen

100. ST UR=E Ty W Afw ot <am § 2

(1) g&A SUHA (2) F&d ITHA
(3) dfvaes IuHA (4) T 3UHH
00o0
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